GLw 2 [

quatro fragdes, decimais, ordem das operacdes

Nome:

4,1-2,2+2%x3,9=

2
3,2-20x §+4—3><2,2=

W] =

1
S —9x4,8+3-2x
4 9

2,8—é><5—10><5,4+5=

Encontro: Data: Pontuagao:

2,3+ = -2

N =

1
3,4+6><3,8+3—5><§=

3 3
24, 7x2+16%x 4=
2 2

N =

1
~ —4,4%x3-
3 2

[\SR OS]

1
C 25 x4,5+5—4x
4 9
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4 * ’ & quatro fragdes, decimais, ordem das operacdes

Nome: Encontro: Data: Pontuagao:
97 7 1 1 49 19
4,1-2,2+2x = —=0— 23+ - —2xX —=—=1—
’ ’ 39 10 910 >3 3 2 3 30
3 1 3 19 3 I 17 1
— 4+ -+ S5 X —= — =4— 4+ 6 % +3—-58§X — = — =8~
4 4 . 4 4 4 3 6x3,8%3-5 2 2 82

2 27 2 3 3 19 9
3,2-20x 2 +4-3x2,2=(—"2)=(-5= D4 Tx2+16%X 2 d=(——)=(—-1—

9

1 1 889 4 1 1
L 0x48+3-2x2 ==V o c14y L C44x3— - = (-2 o 13—
3 O A8TIm2xa =)= ClAg) 344X 35 =(05) = (Cl355)

1 53 5 1 3113 1
28— —x5—10x5 4+-5=(—2)=(=82) ——25x45+5-4x> =(——2)= (-8
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